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(1D MW
(2) CO3>+S02+H,0=2HCO5+S0s*
(3) NaHSO3;+NaOH=Na,SO3+H,0
(4) MNa,SOs FF1E Vi T4 Na2SOs(s) 2Na*(aq)+SOs>(aq), NaOH i &f# ¢(Na")H ok,
bR P R A2 )
@b
(5) BaCL ¥ #i#h1R
(6) D105+ 3S0:2=3S042+T
@3xyx100%
8.
(1) 4MnO(OH)+0, 2 4MnO, +2H,0
(2) @ NH} +H,0 == NH,-H,0+H" (5 NH] Kf#=4 H" )
@ ERkE, AELES, Sk
@ fn# NH,CUHLA F 340°C AT, NHLCIZ NH; + HCL; 8P4 44,
NH; + HCI=NH4Cl, 15 E4li% NH4Cl.
(3) KSCN &, AR
(4) @ MnO, +H,0, +H,S0, ==MnSO, +2H,0+0, T
@ i % MnO, fEMEAA], RStR,  MnO, RS ## H,0,
ii 1 MnO, fEEALF, A H,SO, J5, MnO, MEATEISSE, # H,0, &5 H




Fi8 3 ARAEAT -
5. AT, BERRABRILEN S B BERS P2 COs FINERIR 7 #5 K, MAEHEALE C, s

RN BN AE SR Y, SO REIR BISELS H s B I, IRERIR AT LA i AR IR S B AR
A FIN R 53K, HCL Eedt AR E C, {2 HCI AN S C o KT, A
S%F Cla 5 KI [ R BP0, BT DUABISEEs H s C I, ) #h WA K B A i) 4%
0., W HCl 58k, #AFE C, HCl 5 NaxCOs 8 # £ M1 NaHCOs K42 X
B2, SZME ) NaHCOs & &, WONREE RIS HIY: D UL, BT A& eEm
. w85, LR URT & SR KR B A ) % SOB), B4 A HaS S50,
HHEA HS i JitE, RefffetE sk ta, WORRRIA R 5258 H 1.

6 /8 AT, WROLEHERI TS AR ORI, GeRR I S R AA R (e,
P P v B TR VAL TR 36 L0 B TR S B 2 o R I 4 s B T, LAY Br, [

CCl ¥EWR ML, AFRRZE; CH. DI, KRR S L8 N HI#3 1 24+ S0, ,
TC Ve FH R v B R B VS RO A2 YR CCL, YA ARG 56 2 M B8 b A Sk 2 SO, » - SO, fig 5

KMnOs. Br, KAEAAGIE 5 [ B2 4R €, SEM 2 AL .
7

(1)

(2) HEFLLEH, 7E A miBART, &t NayCOs. NaHCOs. NaSOs Ak, HJE#iE /&4
I, BIE AT & B LAAT LU E J5 P R . BTE R SO A RS, |
AT A B e

(3) M (2 BERAHT, RIS 7= )08 NaHSOs,  HAt N FIai i e Mz —, ol
ar R A BB DY NaHSOs M1 NaOH e B, 45 i is AR H Frga (5 BT 1S, 2R
FEP) & NaaSOs, I HEH M T 2

(4) (ONaxSOs fEIF R P AFAEYTIE W A4 : NaaSOs(s)

BN NaOH, i e(Na" )ik, _bik-F@iia#5) .
@44 (3) AR, EAE 33°CLAE 45 F A BEMT H TE7K NazxSOs.

(5) Jem ANt & HCl, BRE R RHH NaxSOs, FiIA BaCly, J8 i A= s T #h R 1) F 6
UUUE BaSOq, TIESEHR AR 1 AETE -

(6) OHBTEEFTAN, FEWE L LT MU BT, T AR E 2 500, 105 FaE S ™

2Na*(aq)+S0s*(aq),




YR T, BEBRTH SO EEEMN SO& 5, 1055 [N L, L ik e xR

A5,

OEBOF B F N TR, A5 5 RMNE n(S0sY): n(105)=3:1, #il#H 4% H
IEE T n(1057), BEMTHHE H #(SO32)=0.003xy mol.

R 53 BN : [0.003xyx126/0.126]x100% = 3xy*100%



